PONAVLJANJE  - BROJEVI   DO   9
1. KOLIKO ČEGA IMA?  NAPIŠI  NA  CRTU  ODGOVARAJUĆI BROJ.
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_________             _________                   __________          ___________

2. USPOREDI   ZADANE   BROJEVE.

2      7

4       8
  7       7       
0      5            4      0

4      9              9       7       3      6       1 +1      8         9       6 + 3
3.  IZRAČUNAJ.


2 + 4 = 


7 – 4 =



5 +       = 9


4 + 5 =


9 – 3 =                                      + 2  = 6


7 + 2 =


8 – 0 =



6 +       = 6


3 + 4 =


6 – 2 =



8  -       = 4


0 + 9 = 


5 – 4 =



7 -        = 1


4. Ivor ima                                         . Mama mu je dala još              .   Koliko bombona ima sada Ivor?
RAD: ____________________

ODGOVOR: ____________________________________________

